WERHILT

MEZRDOEKRIFEHR
EE%E/S| S01801 | MEERAT | REE=E8(IBHE) (BEWLEE(ERD (BRE))

A3t (£ 7D

PR ER S BT = A1 10602 1#ha

wE R EH

IR LS4 WERHmEEESES (B2 EH R EER
HREFE AEFI30EE HERS 12 N FRBAE
R a0 NEXET. BETUEMNEEFTEETICRYIEEEERL. ChzEE

(MRBRZEIT o= E R
ARBETHOT-EH)

EICHNEIHEERFEICHLTERGRETEEL., RIFELHEIHI &I
FY EFORELHRBUDIBEICT ST HEXBHICRESNT,

FeER DX E B IIZiAof=
EEKR

BEARFLVREBMICRSEEZETO>TLS,

QENOEE
BEWLE R Pk hisi B 1541
EHEIE (NEAH) -
+ |BbEE 86.4mi RN wHE —
tlmas h

BIME T 2 E (FH) (3R )
: R P s AR SRR BE
é@%ﬁﬁ FBF0E12A 18 [RYREE(£H) 8,600,000
" Ekmn 86.44ri it B b (A4 REHE

il A (R HE4E) 2 mEE i
IERSESOREHE | o e | wn 5| TR FE| TR OFE| TR 5E

HREY

BTN

%A

JR7 - @t RE b IS EE




QEHR-EEOHE

FI| A BERE — {RFr (#8) B —
EERRE BEE EE-EEEA N
FAYEGEEEEDEA)| B F A H F F A H
EBENE
WEE-EEICRIEE (Bf:M)
EREE(00065 A| FHKE A |BEA®E|0.0006 A |Ex#8E|00018 A| &EF |00089 A
BEOHFERICRIZEE BEROEE -SX(ICRIZEEEEHDES)
HEEERE 2,653 BE-EEERE
SEIKE EEEEETH
RTFRBEITH 892 ZDHDRE
EEH
EiesE
ZDHhDRE 1,761
A& 53,826
BE % 49,690
EEEBE 4,136
Ol 56,479 @it
25 (@+2) -0 ~3,521H
mR—AH=YDIRE -0.02M
RIS EINA Z DU A
B R
FERAFFIIA 60,000 QERURA & 60,000
(5)FEER O FI AR R
o~ o B
n& B H24 H25
EIUEFEE (B B FEIF)ABERABFH/EEFH) | % 100.0 100.0 100.0
(6)B8E1E#R
FEUEER 3T [ 1t 2%
(DD 4th

EE-EELORER

MERENEVREFETHD,

Bl & EAFICKITEHE
2 £ DOHFIR TR RRBIS
FDBERT NEEHE

CEEGE ]

ABBANGEFZRL TV A RELLZL BRETNIE, FEDRREE

1E EMISARR) 21T,




HEHDKR

EiE
E&

=93
a8

BYMAH

wiE

PRI

BEEAA

MR

(M)

it B

-3 b B - TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - 0 TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3 TR

-3 b BE - TR

-3 b B - 3 TR

-3 b B - TR

- 3h b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3 TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR

-3 b B - 3t TR

-3 b B - TR




